Antalya is a big green city in the south of Turkey.
I's in the Mediterranean region. Its area is 20.723
km?2. About two million people live there. It has a
clean sea and warm climate so a lot of tourists
visit Antalya every year. The average winter
temperature is around 10°C and the average
summer temperature is 29°C.

1. Why do tourists go there?

A) The winter is cold in Antalya. B) A lot of people live there.
C) Antalya has 20.723 km? area. D) It has a clean sea and warm climate.

2. Which one is CORRECT?

A) There are a few forests in Antalya. B) People usually visit Antalya in winter.
C) The sea is not dirty in Antalya. D) Winter in Antalya is better than summer.

isleyen Zeka Yayinlar

5. 1 am 45 kg. My brother is 50 kg. | am not
- - - - than my brother.

3-6: For these questions, choose the
best option to fill in the blanks.

A) taller B) heavier

3. Steven : Which city is more beautiful, Rome or C) younger D) more handsome

Paris?
Kate : Paris.----.
A) ltis a dirty city
B) | don't like this city
C) ltis really great 6. N N
D) I don't want to live there

4. Paul : Look at this photo, mom. They’re my SR
friends.

Mom :----? ~ 7S g
Paul  : He's Larry, my best friend. Can :Whichoneis----? A turtle or a rabbit? §
A) Who is that taller boy Bruce : A rabbit, of course. Turtles are slow. | §
. (=]
B) Is Larry your best friend A) older B) faster E
C) Where are they now C) newer D) younger l§
D) Do you love them S
™
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Vv 2.TESTVY Describing What People are Doing Now

3. UNITE: Downtown

| Answer the questions (7-8) according to the text below.

George is in the downtown now. He feels very excited because he lives in a
village and he rarely goes to the downtown. He is sitting at the restaurant and
eating something. He is watching outside. There is a big skyscraper next to the
hospital. The skyscraper is higher than the hospital.

A)

8. According to the text, George - - - -.

A) is eating something at home
C) is meeting his friends in the village

9. Answer the question according to the table.

B) is sitting at the restaurant now
D) is sitting in a flat in the skyscraper

Isleyen Zeka Yayinlari

AGE SPEED | HEIGHT
2 years | 200
CAR old km/h 215cm
BICYCLE Z;’ears 10 km/h |87 cm
Bicycle is - - - -.

A) faster than car

B) high and new

C) slower than the car

D) newer than car
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10.

(I) We go to the village every summer and we
have good times there.(Il) Country life is better
than city life. (Ill) Country is quiter and cleaner.
(IV) City is more exciting than country.

Which sentence is ODD one out?

A)l B) Il c) 1l D) IV
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